1. REHEEX (BfL : p Sv./h)

BNEESEVELOBSRER

(BRIBE=FILTY—RA)

2748 9A

BITE A 9RA7H 9A14H 9A21H 9A28H
@ |T==mEEy 0.90 0.90 0.95 0.90
@ |ABEEEEHILNT (R) 0.40 0.40 0.40 0.38
@ |NBEEEEHTL /D (FHE) 0.75 0.80 0.80 0.70
@ |EEzLEBRRN 15 15 16 16
® |TsE=mHAD 15 15 1.7 16
® |worEiEs (@) 1.3 1.2 12 1.2
@ | EiELs (F) 5.0 4.8 4.6 4.6
HESVEEEIS (78) 2.0 2.3 2.2 2.0
OR: L2 1C ) 3.1 32 34 3.2
Ho1BEES (dh) 4.0 4.0 43 43
@ |E=4U2 SRR HA 0.45 0.40 0.50 0.50
(D | zx#EamFERE 0.80 0.80 0.80 0.80
OREEZ G 15 16 16 16
HEBRIBS — MBI ES 0.70 0.70 0.80 0.80
() |FEBEEeE) 1.0 1.2 1.2 1.2
FEHREL) 0.80 0.70 0.80 0.70
WREEZ 3335 F:IN=! 0.60 0.60 0.65 0.65
HEBHIBS— 0.50 0.45 0.50 0.50
FEBE2ES—H 0.50 0.50 0.50 0.50
Q |wmEHB1IES—H 0.30 0.25 0.25 0.25
X |HEB®RER) 1.0 1.1 1.1 1.1
O |EwaaEE) 0.90 0.90 0.95 10
O |£#saEGEER) 0.30 0.35 0.35 0.30
n [HERAEEE) 0.30 0.35 0.35 0.35
@ (ABREEEEHAD 0.22 0.20 0.20 0.20




